TR20FE

B L CIEHKE,
5 BB - COD#EE! |A(##BrIA) MILTEE (ZOHMOXE)
i St.1 |ZFR-$#EH T HHR) K EREEE (=)
—RIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
48 £ 15.2 15.5 — 15.0 5.0 BE kEf-E| EBR
68 BEh 22.8 24.0 — 15.0 10.0 BE k- &S
8H BEh 29.0 29.0 — 16.0 8.0 BE k- &S
108 BEh 25.5 24.0 — 16.0 4.5 BE k- &S
128 BEh 19.0 20.0 — 16.0 5.5 BE k- &S
28| Bh 6.0 11.0 - 16.0 5.5 BE  (KEfR-h| #ES
4FRRIFIER
oH DO COD |XBEHH |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83] 75LLE | 20LLF | 100051 F | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 8.5 1.7(1.8) 52 <0.5 0.22 0.019
48 == 7.9 10 1.4 240 <05 0.16 0.011
hE - - - - - - -
65 == 8.2 8.9 1.6 23 <0.5 0.20 0.016
hE - - - - - - -
8H == 8.3 75 1.4 0.0 <0.5 0.16 0.014
= 8.1 75 1.8 50 <0.5 0.15 0.021
= 8.0 7.9 2.0 0.0 <0.5 0.23 0.025
2 H == 8.0 9.4 1.8 0.0 <0.5 0.42 0.026
e - - - - - - -
BEIEE (REDHEHAD
IS INESS o) ANfivoL| HE #ikeE |7ZrxkE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
4K - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2R - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | FJoAA
a2 o IR IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
S'Z - - - - - - - -
4K - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2R - - - - - - - -




FEF7OA[13-550] L | ooy | AN | <o :
T:l:;'-py |:|7|:|//\°> FoSL | ROV j;)[,jj 0 Ly PR
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.01LLF [0.00200F [ 0.006LLF [ 0.003LLF [ 002LLF | 001LLF [ 001LLF | 10LLF
SF _ _ — — — — — —
4/l - - - - - - - -
6A[ - - - - - - - -
8AH - - - - - - - —
10A - - - - - — - —
128 - - - - - — - —
27 — — - - - — — —
ZTNDIEE
Ix/—) i SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHEl - - i - - -
RE - - i - - -
= - < - — —
= - < - — —
= - < - _ _
10A ; E — — - — — —
= - < - _ _
12AH ; E — — - — — —
= - < - — —
2R —E - - S - - -
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
EBTE] 19000 - 0.01
=B 19000 - <0.01
4/ ; E — — =
= 18000 — <0.01
6A ; E — — =
= 19000 — <0.01
8AH ; E — — =
= 19000 — 0.01
10A ; E — — —
= 19000 — 0.02
12AH ; E — — —
= 18000 — 0.01
2R —FE 0 - 0



TR20FE

B LTI DK,
5 BB — COD#% |B(HE#¥R) ML TEECGERERX)
} St.2 |22 3 - IR R I GBI ) feAKEREEE (D)
—RIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
48 £ 14.2 15.0 — 13.0 4.0 BE kEf-E| EBR
68 BEh 22.2 24.5 — 13.0 5.0 BE xEf-h| &S
8H BEh 30.5 30.5 — 13.0 3.0 BE k- &S
108 BEh 23.5 23.0 — 13.0 4.0 BE k- &S
128 BEh 20.5 19.0 — 13.0 6.5 BE kEf-h| &S
28| Eh 6.5 11.0 N 13.0 4.5 BE | HEf-k]| EER
EFRIFIER
oH DO COD |XBEHE |h-~FHUH 2=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.6LLF | 0.05LLF
EE(75%1E) = 8.3 2.2(2.6) 610 <0.5 0.30 0.032
48 =E 7.9 9.6 1.7 240 <05 0.31 0.020
IE 7.9 9.3 1.7 220 - 0.22 0.019
65 == 8.1 8.5 2.9 800 <0.5 0.37 0.029
th B 8.1 8.4 2.6 240 - 0.29 0.037
8H == 8.3 75 2.5 8.0 <0.5 0.22 0.034
GIE 8.3 7.1 2.7 50 - 0.34 0.047
107 == 8.0 7.1 2.6 5000 <0.5 0.34 0.046
GIE 8.1 7.3 2.3 500 - 0.29 0.026
125 == 8.1 8.1 1.3 17 <0.5 0.29 0.033
GIE 8.1 8.0 1.2 22 - 0.33 0.034
oH == 8.0 9.2 2.2 130 <0.5 0.30 0.028
B 8.0 9.5 2.2 70 - 0.31 0.029
BEIEE (REDHEHAD
ARSHL [ 227y & ANE/RL| #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
4K - - - - - - - -
68| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
8H - - - - - - - -
108| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
12H - - - - - - - -
2R - - - - - - - -
ynni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
4K - - - - - - - -
68l <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
12H - - - - - - - -
2R - - - - - - - -




FhS54H00(1,3->40 = NN FARY TN . WREEREY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.13
4 A - - - - - - - -
6 H <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.10
8H - - - - - - - -
10A <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.15
128 - - - - - - - -
28 — — — — - - - -
ZTNDIEE
Jz/—1 i SS 2EH |(yookns 7’&’_.';.;
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
SFﬂﬂl_E <0.02 - 1 0.007 <0.001 <0.008
=E - — 1 <0.005 - -
4R oh B — — ] — — —
68 =B <0.02 - 1 <0.005 <0.001 <0.008
S — ‘ ; - -
- - <1 <0.005 - -
8R 0 [ - - <1 - - -
108 =B <0.02 - 1 <0.005 <0.001 <0.008
S I — ‘ 3 - -
- - <1 0.014 - -
12H oh B — — % = — —
=E - - <1 0.007 - -
2
A g — — r = — —
Bl [ EEEE T me).
(mg/1) (mg/ 1) (mg/1)
SEI9TE| 18000 0.02
48 E3E] 18000 - <0.01
B 19000 - -
68 AL 16000 - <0.01
th B 18000 - -
8H AL 18000 - 0.01
B 18000 - -
AL 18000 - 0.03
108 th S 18000 - -
AL 19000 - 0.02
128 th S 19000 - -
28 xE 18000 - 0.01
g 19000 - -



TR20FE

B L CIE DK,
5 2 BB — COD#HE! |A(R#ER) ML TEE (ZOMOXE)
i St.3 |22 - Im B I (HE ) feAKEREEE (D)
—iRIEE _
K& (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
48 £ 14.3 15.2 — 12.0 4.5 BE kEf-E| EBR
68l BEh 22.2 24.0 — 7.0 5.5 BE xEf-h| &S
8H BEh 30.0 30.0 — 12.0 3.8 BE k- &S
108 BEh 23.5 24.0 — 10.0 4.0 BE k- &S
128 BEh 20.5 20.0 — 12.0 5.5 BE kEf-h| &S
28| Eh 6.5 14.0 N 12.0 4.2 BE | HEf-k]| EER
4FRRIFER
oH DO COD |XBEHE |h-~FHUH 2=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LF | 1000LLF | JEEH 0.6LLF | 0.05LLF
EE(75%1E) - 8.4 1.8 73 <0.5 0.23 0.021
48 == 7.9 9.1 1.0 280 <05 0.16 0.014
IE 7.9 9.7 1.6 240 - 0.17 0.013
65 == 8.2 8.8 2.0 30 <0.5 0.18 0.014
IE 8.1 8.2 1.8 50 - 0.21 0.017
8H == 8.3 7.3 1.9 4.0 <0.5 0.18 0.022
IE 8.2 7.3 15 17 - 0.24 0.020
108 == 8.1 75 1.8 30 <0.5 0.16 0.022
GIE 8.1 75 1.7 170 - 0.20 0.023
125 == 8.1 7.9 2.0 0.0 <0.5 0.27 0.025
GIE 8.1 8.6 1.6 2.0 - 0.25 0.024
oH == 8.0 9.4 2.4 0.0 <0.5 0.39 0.029
B 8.0 9.6 2.5 50 - 0.35 0.023
BEIEE (REDHEHAD
N INESS S & ANE/RL|  #MFE fikéR |7r*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
4K - - - - - - - -
68| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
8H - - - - - - - -
108| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
12H - - - - - - - -
2R - - - - - - - -
ynni| migke [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | FJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
4K - - - - - - - -
68l <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
12H - - - - - - - -
2R - - - - - - - -




T4 00(1,3->4sn0 = s oy ata FARY UTR . HHMERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#0E] 0.01L0F [000254F [ 0.006LF [ 0.003LLF | 0.020LF [ 0.01LF [ 0.01LLF [ 10LF
E <0.001 [ <0.0002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 0.04
4H - - - - - - - -
68| <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
8H - - - - - - - -
10A| <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.05
128 - - - - - - - -
28 - - - - - - - -
ZDHIEE
Jz/—0| # SS 2ER |soofkns| LR
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl <002 - 1 0.005 <0.001 <0.008
RE - - <1 <0.005 - -
4R & - <1 - - -
65 xE <0.02 - <1 <0.005 <0.001 <0.008
Y S T 3 A
- - 1 <0.005 - -
8AH T — 1 = — —
107 xE <0.02 - 1 <0.005 <0.001 <0.008
] - < - - -
=RE - - < <0.005 - -
128 B — < - — —
=RE - - 2 0.006 - -
2
A i — 1 = — —
Bl [ EEEE T me).
(mg/1) (mg/ 1) (mg/1)
EHE] 19000 0.01
48 RiE 19000 - <0.01
& 19000 - -
65 RE 19000 - <0.01
& 19000 - -
8H RE 19000 - 0.01
& 18000 - -
RE 19000 - 0.01
10AR th S 19000 - -
RE 19000 - 0.02
12R th S 19000 - -
oH RE 19000 - 0.02
th 18000 - -




TR20FE

B L CIEHKE,
5 BB - COD#EE |A(E#EH) ML TEE (ZOMMOXE)
i St.4 |- SR 1 GEBIR) REKEREEE (Z)
—iRIEE _
K& (°C)
XiE_[SE(C) =RE e 2KE 75 B FE TR =X 2=
48 =) 14.5 15.5 - 9.6 5.0 BE kEf-E| EBR
68 BEh 22.6 25.0 — 11.0 5.8 BE xEf-h| &S
8H BEh 28.8 28.5 — 12.0 5.5 BE k- &S
108 BEh 25.5 23.5 — 11.0 5.0 BE k- &S
128 BEh 20.5 20.0 — 13.0 5.5 BE kEf-h| &S
28| Bh 6.2 115 - 13.0 5.3 BE  (KEfR-h| #ES
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83] 75LLE | 20LLF | 100051 F | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 8.5 1.6(1.7) 54 <0.5 0.21 0.020
48 == 7.9 9.0 15 80 <05 0.15 0.016
IE 7.9 9.4 1.4 300 - 0.17 0.017
65 == 8.2 9.0 15 23 <0.5 0.21 0.018
IE 8.1 8.6 1.6 30 - 0.24 0.017
8H == 8.3 7.6 1.1 0.0 <0.5 0.15 0.015
IE 8.3 75 15 7.0 - 0.16 0.015
107 == 8.1 75 1.3 130 <0.5 0.16 0.021
GIE 8.1 75 1.9 50 - 0.14 0.021
125 == 8.1 8.0 1.7 0.0 <0.5 0.27 0.027
GIE 8.1 8.5 1.6 0.0 - 0.25 0.024
oH == 8.0 9.5 2.3 8.0 <0.5 0.28 0.025
B 8.0 9.6 2.0 17 - 0.29 0.027
BERIEE (REDHEHAD
N INESS S & ANE/RL|  #MFE fikéR |7r*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
4K - - - - - - - -
68| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
8H - - - - - - - -
10A]| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
12H - - - - - - - -
2R - - - - - - - -
yani| mige [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
4K - - - - - - - -
68l <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
12H - - - - - - - -
2R - - - - - - - -




FhS54H00(1,3->40 = NN FARY TNTR . WREEREY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.03
48 - - - - - - - -
6 H <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
8H - - - - - - - -
10A <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.04
1248 - - - - - - - -
28 — — — — — — — —
ZTNDIEE
Jz/—1 i SS 2EH |(yookns 7’&’_.';.;
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
SFﬁﬂI_E <0.02 - 1 0.005 <0.001 <0.008
E3E] - - <1 <0.005 - -
47 0 [ - - 1 - - -
65 =E <0.02 - 1 <0.005 <0.001 <0.008
S — ‘ ; - -
- - <1 <0.005 - -
8H oh & — — % = — —
108 =& <0.02 - <1 <0.005 <0.001 <0.008
hE - - < - - -
=RE - - < <0.005 - -
124 B — — < = — —
=RE - - < 0.007 - -
2
A g - - r = — —
Bl [ EEEE T me).
(mg/1) (mg/ 1) (mg/1)
SEISTE| 19000 0.01
48 E3E] 19000 - <0.01
B 19000 - -
68 AL 19000 - <0.01
th B 19000 - -
8H AL 19000 - <0.01
B 19000 - -
AL 19000 - 0.01
108 th S 19000 - -
AL 19000 - 0.02
128 th S 18000 - -
28 xE 19000 - 0.01
i 18000 - -




TR20FE

B L CIE DK,
5 pEap b - COD#EE! |A(##BrIA) MILTEE (ZOHMOXE)
i St.5 |ZFR-$#EH T HHR) K EREEE (=)
—iRIEE _
Kig (°C)
XiE_[SE(C) =RE P E 2KE il iR =Xz R
48 =) 14.3 14.0 - 7.6 7.0 BE kEf-E| EBR
68l BEh 22.4 24.5 — 8.0 5.5 BE xEf-h| &S
s8Al BEh 29.8 29.0 — 7.8 6.0 BE k- &S
10A| ®Bh 23.5 23.0 — 8.8 5.5 BE k- &S
128| ®Bh 19.0 18.0 - 8.8 5.0 BE kEf-h| &S
28| Bh 6.8 11.0 - 7.8 35 BE (-] #ES
4FRIFIER
oH DO COD |XBEHE |h-~FHUH 2=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83] 75LLE | 20LLF | 1000LLF | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 8.7 1.8(1.9) 30 <0.5 0.20 0.020
48 == 7.9 9.8 1.9 120 <0.5 0.16 0.016
hE - - - - - - -
68 == 8.2 9.2 1.7 50 <0.5 0.21 0.018
hE - - - - - - -
8H EAC 8.3 7.5 15 4.0 <0.5 0.15 0.019
= 8.1 7.5 15 4.0 <0.5 0.18 0.019
= 8.1 8.6 1.8 0.0 <0.5 0.24 0.021
2H EAC] 8.0 9.6 2.6 4.0 <0.5 0.27 0.026
P E - - - - - - -
BEIEE (REDHEHAD
NP INESS o ANEivoL| #ME #ikéE |[7rxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | JE#EH JERH |
:F _ _ — — — — — —
4K - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10R - - - - - - - -
128 - - - - - - - -
2R - - - - - - - -
rani| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY | AaxTFLY (= ok 3 ox4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LL'F
S'Z - - - - - - - -
4K - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10R - - - - - - - -
128 - - - - - - - -
2R - - - - - - - -




Fh34900|1,3-4-0 — . aoo ~ TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
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128 - - - - - - - -
27 - - — — — - - -
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—_ —_ ‘I —_ —_ —_
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(mg/1) (mg/ 1) (mg/1)
EBIE| 19000 0.01
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6A ;E — — =
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8AH ;E — — =
19000 - 0.01
19000 - 0.01
19000 - 0.02
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